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AJOvwS
A AR =y | dfiARFC $V4°-RFC | KFFESC g =} o Bl | /A | %ka | BKE| IEA
LIFERE =Y 1 — 0|3 — 5|2 — 3 1 2 0 3 6 8 A2 4
HARFC | 0 — 1 2 — 0l1 — 0 2 1 0 6 3 1 2 1
$94-2FCl 5 — 310 — 2 1 — 1 1 1 1 4 6 6 0 2
| Kf#E®Ssc| 3 — 210 — 1 1 — 1 1 1 1 4 4 4 0 3
BJOw%S
B HiABFC REGISTA | D<KIFJrFC | BHEHEFFC it =1 o e | B8 | %8 |[BEE| IEL
HiBFC 2 — 0]l6 — 0|4 — 1 3 0 0 9 12 1 11 1
REGISTA | 0 — 2 0O — 113 — 2 1 2 0 3 3 5 A2 3
OEJrFCl 0 — 611 — 0 2 — 2 1 1 1 4 3 8 A5 2
AsEAEPFC | 1 — 412 — 3 [ 2 — 2 0 2 1 1 5 9 A4 4
cJowvws
C —(D=-Blue| 1i#/NSSS | KEENNEUT| FHHESC it = n g | B | &g |BKE| IEA
— D= -Blue 2 — 314 — 215 — 0 2 1 0 6 11 5 6 2
Li#/ANSSS| 3 — 2 1 — 112 — 1 2 0 1 7 6 4 2 1
| KEEALEYT] 2 — 4| 1 — 1 8 — 1 1 1 1 4 11 6 5 3
| Fmkssc| 0 — 511 — 211 — 8 0 3 0 0 2 15 A 13 4
DJOw%4
D MEFEFC | —D=-Red| TEHEFC EESC i =1 o e | B8 | %8 |[BEE| IEL
M EFEFC 1 — 212 — 0]0 — &6 1 2 0 3 3 8 A5 3
“DE-Red| 2 — 1 2 — 0l0 — 3 2 1 0 6 4 4 0 2
MEEFC| 0 — 210 — 2 0 — 6 0 3 0 0 0 10 A 10 4
| E&ESc | 6 — 013 — 016 — 0 3 0 0 9 15 0 15 1
EJOwvs
E BFC FEIBT VAR | ZIESSS | tREI744-A| B =} o fEm | Bm | £m [BEE| IEL
BFC 2 — 215 —o0l2 — 0 2 0 1 7 9 2 7 1
| ZIETVAR] 2 — 2 0 — 0l2 — 0 1 0 2 5 4 2 2 2
| EBSSS | 0 — 51 0 — 0 1 — 0 1 1 1 4 1 5 A4 3
fEg749-21 0 — 21 0 — 210 — 1 0 3 0 0 0 5 A5 4
FJOovs
E FHASC #iASC  |MAENO D2C|  Fcdt% B =] o Bl | B8 | &8 | BEE] O IEM
FHASC 1 — 412 — 117 — 0 2 1 0 6 10 5 5 2
#BsC | 4 — 1 6 — 0]9 — 0 3 0 0 9 19 1 18 1
MAENOD2C| 1 — 2 0 — &6 4 — 0 1 2 0 3 5 8 A3 3
Fcdkg |0 — 710 — 90 — 4 0 3 0 0 0 20 A 20 4




